Handout 2.1	


Brainteaser 1


Solve the following brainteaser, without discussing it.


In a mathematics test, no two pupils scored the same. Brian scored less than 4 and Julie scored more than 6, but did not get full marks. Simon’s score was the sum of Brian’s and David’s. Rachel scored three times as many as Brian. Brian, Julie and Rachel all scored even numbers, while Simon’s and David’s scores were both odd. David’s score was half of Rachel’s.


What did each pupil score out of 10?


Handout 2.2	


Brainteaser 2 


Copy this on to thin card and cut it into seven cards. Each group needs one set.





The problem �Make the row of six cubes��
�
�
The green cube is between the orange cube and the yellow cube �
The blue cube is between the green cube and the yellow cube�
�
The red cube is between the black cube and the green cube�
The yellow and the black cubes are not between any cubes�
�
The orange cube is between the green cube and the red cube �
Every cube is a different colour from the others�
�
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